MAT 136 (Calculus I), Prof. Jim Swift
- The Point-Slope Form of Linear Functions, and Inverse Functions

1. In this problem, we consider the conversion of temperature from Celsius to Fahrenheit.
This is useful if you travel to Europe, or in fact almost anywhere outside of the USA.

Let F = f(C) be the temperature in Fahrenheit as a function of the temperature C' in
Celsius. We know that water freezes at C' = 0 and F = 32, and that water boils at C' = 100

and F' = 212. Thus, f(0) = 32 and f(100) = 212.
n f(0) nd f(100) 2232 _ (90
(a) Find the slope of the function f. Hint: the slope is m = £Z. Use decimals. M o 'm e

(b) Compute the change in F' when C' changes by 10. Use that to fill in the following table:

0 ] 10 [ 20 | 30 | 40 | 50 =0 = @tg
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Use the slope m to fill in the table with only addition or subtraction, but no multiplication.

Gasfgrm ety =60 R

(d) Find the formula for F' as a function of C' using the slope-intercept form: F = f(C) =
mC +b. That is, fill in the blanks: F = L. ¢+ 22

(e) In part (c), you found the value of f(C) near C' = 20 using the point-slope form of f, based
on f(20) = 68. Fill in the blanks using that way to write the function: F = [.£ (C'—20)+

2. Find the formula for C' as a functon of F'. This is C' = f~'(F). In other words, find M€ CR_
formula for the inverse function f~!.
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